



St. Louis County, Minnesota

Date of Report: 12/15/2025 11:45:01 AM

General Details

Parcel ID: 030-0500-00035

Legal Description Details

Plat Name: ELY

Section Township Range Lot Block

26 63 12 -

Description: THAT PART OF SE1/4 OF NW1/4 COMMENCING AT SE CORNER THENCE N 233 FT TO PT OF BEG THENCE CONTINUE N 200 FT THENCE N 88 DEG 15 MIN 41 SEC W 400 FT THENCE S 1 DEG 47 MIN 19 SEC E 200 FT

THENCE S 88 DEG 15 MIN 41 SEC E 400 FT TO PT OF BEG

Taxpayer Details

Taxpayer Name OJALA DANIEL A & KATHERINE

and Address: 2119 N SAVOY RD

ELY MN 55731

Owner Details

Owner Name OJALA DANIEL ETUX

Payable 2025 Tax Summary

2025 - Net Tax \$2,923.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$3,008.00

Current Tax Due (as of 12/14/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$1,504.00	2025 - 2nd Half Tax	\$1,504.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$1,504.00	2025 - 2nd Half Tax Paid	\$1,504.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 2119 N SAVOY RD, ELY MN

School District: 696
Tax Increment District: -

Property/Homesteader: OJALA, DANIEL A & KATHERINE

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$18,700	\$231,000	\$249,700	\$0	\$0	-	
	Total:	\$18,700	\$231,000	\$249,700	\$0	\$0	2262	





St. Louis County, Minnesota

Date of Report: 12/15/2025 11:45:01 AM

Land Details

Deeded Acres: 1.84 Waterfront: Water Front Feet: 0.00

P - PUBLIC Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: P - PUBLIC Lot Width: 0.00 Lot Depth: 0.00

прому аррегоновносовить у тип	.gov/woor latomamo/	·	<u> </u>		ons, please email Property	an Sensalessanty minger			
Improvement 1 Details (HOUSE)									
Improvement Type	Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
HOUSE	1903	1,2	1,218 2,310		U Quality / 0 Ft ²	1S+ - 1+ STORY			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	9	14	126	BASEMENT				
BAS	2	12	26	312	FOUNDA	TION			
BAS	2	14	26	364	LOW BASE	MENT			
BAS	2	16	26	416	BASEMI	ENT			
DK	1	6	14	84	POST ON G	ROUND			
DK	1	12	16	192	POST ON GROUND				
OP	1	0	0	77	POST ON GROUND				
Bath Count	Bedroom Co	unt	Room (Count	Fireplace Count HVAC				
1.75 BATHS	4 BEDROOI	MS	-		0	CENTRAL, FUEL OIL			
Improvement 2 Details (BUILT 2000)									
Improvement Type	Year Built	Main Flo	oor Ft ²	² Gross Area Ft ² Basement Finish Style Code & De					
GARAGE	2000	1,3	44	1,344	- DETACHE				
Segment	Story	Width	Length	Area	Foundation				
BAS	1	28	48	1,344	FLOATING SLAB				
Improvement 3 Details (GARAGE)									
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc			
GARAGE	0	1,4	72	1,472	- DETACH				
Segment	Story	Width	Length	Area	Foundation				
BAS	1	32	46	1,472	FLOATING SLAB				
LT	1	9	12	108	POST ON GROUND				
Improvement 4 Details (STORAGE)									
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc			
STORAGE BUILDING	0	96	6	96	-	-			
		147 141	1	A	Foundation				
Segment	Story	Width	Length	n Area	Founda	lion			

Improvement Type

STORAGE BUILDING

Segment BAS

Year Built

0

Story

Improvement 5 Details (WOOD SHED)

Length

12

Gross Area Ft 2

96

Area

96

Basement Finish

Foundation

POST ON GROUND

Main Floor Ft ²

Width

8

Style Code & Desc.





St. Louis County, Minnesota

Date of Report: 12/15/2025 11:45:01 AM

Important True	Voor Duile	-	provement 6 De		amant Finiah	Ctude	Cada 9 Daga	
Improvement Type Year Built			Main Floor Ft ² Gross Area Ft ² 97 97		ement Finish Style Code & Desc - PLN - PLAIN SLAE			
Segment Story			Width Length Area		Found		PLAIN SLAD	
BAS	0	0	n Lengtn Area 0 97		-	ation		
2,10		·	•					
Improvement Type	Year Built	Impro Main Flo	ovement 7 Deta	• •	eamont Finish	Style	Code & Desc.	
STORAGE BUILDING			in Floor Ft ² Gross Area Ft ² Basement Finish S 130 130 -		Style	-		
Segmen			Width Length Area		Foundation			
BAS	1	10	G			N GROUND		
		Impro	vement 8 Deta	ils (ST)				
Improvement Type	Year Built	Main Flo		, ,	sement Finish	Style Code & Desc.		
STORAGE BUILDING		96		96	-		-	
Segmen	t Story	/ Width	Length	Area	Found	ation		
BAS	1	8	12	96	POST ON (I GROUND		
		Sales Reported	to the St. Loui	s County Audito	r			
Sale	e Date	•	Purchase Price	,	CF	RV Number		
11/1993			\$0			94192		
11/	/1993		\$0 94193					
		As	ssessment His	tory				
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
	201	\$18,200	\$213,600	\$231,800	\$0	\$0	-	
2024 Payable 2025	Total	\$18,200	\$213,600	\$231,800	\$0	\$0	2,066.00	
	201	\$17,300	\$202,000	\$219,300	\$0	\$0	-	
2023 Payable 2024	Total	\$17,300	\$202,000	\$219,300	\$0	\$0	2,023.00	
	201	\$16,200	\$185,100	\$201,300	\$0	\$0	-	
2022 Payable 2023	Total	\$16,200	\$185,100	\$201,300	\$0	\$0	1,826.00	
	201	\$15,400	\$154,200	\$169,600	\$0	\$0	-	
2021 Payable 2022	Total	\$15,400	\$154,200	\$169,600	\$0	\$0	1,480.00	
		1	Tax Detail Histo	ory				
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land M	Taxable Bui V MV		al Taxable MV	
2024	\$2,883.00	\$85.00	\$2,968.00	\$15,956	\$186,30	9	\$202,265	
2023	\$2,941.00	\$85.00	\$3,026.00	\$14,693	\$167,88	30	\$182,573	
2022	\$2,455.00	\$85.00	\$2,540.00	\$13,437	\$134,54	17	\$147,984	





St. Louis County, Minnesota

Date of Report: 12/15/2025 11:45:01 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.